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sig set_t Tarena
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. 3 JEP\J*Z Isigset_tRARRESE
+ sigset tZEBIBR—EA, (BIZEEEAFR
E— T EE321TRERIESEE
— fE<sigset.h>FBUFREEN
#define SIGSET NWORDS (1024 /
(8 * sizeof (unsigned long int)))
typedef struct {
unsigned long int _ val[ SIGSET NWORDS];
}  sigset t;
— fE<signal.h>F XN HEN A
typedef sigset t sigset t;
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#include <signal.h>

int sigfillset (sigset t* sigsef);

B FMEE0, AREE-1
i
L — sigset. (5S&
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— sigset t sigset;
if (sigfillset (&sigset) == -1) {
perror ("sigfillset");
exit (EXIT FAILURE);
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#include <signal.h>

int sigemptyset (sigset t* sigsed);

:; g FXIDIR[EI0, KHRD] -1 y
L — sigset. (5S&
- f5an
— sigset t sigset;
if (sigemptyset (&&sigset) == -1) {
perror ("sigemptyset"”);
exit (EXIT_FAILURE);
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#include <signal.h>
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int sigaddset (sigset t* sigset, int signum);

z: . FMEE0, AREE-1
L — sigset. (5S&
— signum: S54RSS
- f51an
— if (sigaddset (&sigset, SIGINT) {
perror ("sigaddset");
exit (EXIT FAILURE);
+ }
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- HIRES, B EEETSIEEEESRSNNANESALE
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#include <signal.h>

int sigdelset (sigset t* sigset, int signum);

z: . FMEE0, AREE-1
L — sigset. (5S&
— signum: S54RSS
- f51an
— if (sigdelset (&sigset, SIGINT) {
perror ("sigdelset”);
exit (EXIT FAILURE);
+ }
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#include <signal.h>

?II:IJ int sigismember (const sigset_t* sigset, int signum);
i
g L AMEE!, REEE0, KMEE-1

— sigset. (555
— signum: S54RSS
« {Flg

— if (sigismember (&sigset, SIGINT) == 1)
printf ("5SS &HAESIGINT{E=\n");
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#include <signal.h>

int sigprocmask (int Aow, const sigset t* sigset,
sigset t* oldsed);

i FEUNEEO, KMGEE-1
N J
— how: EXUESH#AERYATN, ATELATME
SIG_BLOCK - {FsigsettRISSINASRIESHAEG
SIG_UNBLOCK - \SHIESHAIEFHIFRsigsethrIES
SIG SETMASK - B sigsetiZ B =RI{E S5
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- REFEAHERNESHED
~ sigset: {554, BINULLIIZREIESK
— oldset. HH[R{ESHEE, BNULLUZRSLEZSE]
- f5an
— sigset t sigset;
sigemptyset (&sigset);
sigaddset (&sigset, SIGINT);
sigaddset (&sigset, SIGQUIT);
sigset t oldset;
if (sigprocmask (SIG_ SETMASK, &sigset,
&oldset) == -1) {
perror ("sigprocmask");
exit (EXIT _FAILURE); }
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#include <signal.h>

/|ﬂ1

int sigpending (sigset t* sigsef);

R REYBEMEIO, KMIEE-1
i
# — sigset: HiHARRESE

- g

— sigset t sigset;
if (sigpending (&sigset) == -1) {
perror ("sigpending”); exit (EXIT _FAILURE); }
if (sigismember (&sigset, SIGINT) == 1)
printf ("SIGINT{ZSFR/E\n");
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— SIGALRM  (14): ESCERTE8ZIEA
— SIGVTALRM (26): [EilERTEEZIHA
@ - SIGPROF  (27): SCAIEERYEEZIER
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#include <sys/time.h>

int setitimer (int which,
const struct itimerval* new value,
struct itimerval* o/d value);

RXLNR[EI0, *Mi&lﬁl-b

N

— which: IEEMW I E=E, ATBLANE
ITIMER REAL - E3CiEATES
ITIMER VIRTUAL - FEHITERTEE
ITIMER PROF - SCFHiEAYES

— new value: ¥iREE
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* 'I«ﬁ%\ JEZE;J\ 9&|\7-T:]IF‘|§E§]-%§
— old value: HHRiREE, FJENULL
. AT E S BERAR T itimerval

— struct itimerval {

o ===l — s o e N
iﬁ // EEIEfRE, B0 FEESEEAREE—MEESRFEL
%g struct timeval it_interval;

// #)%gIElkR, EXORZBMZ ILEERT=E
struct timeval it value;
it
— struct timeval {
long tv_sec; // #b%4

long tv_usec; // {MfVER
+ };
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» f5lan
— SELARTFH RIS, S3ZfTE—IX
struct itimerval it;
it.it value.tv sec = 5;
it.it value.tv usec = O;
it.it_interval.tv_sec = 0;
it.it_interval. tv_usec = 3000;
if (setitimer (ITIMER REAL, &it, NULL) == -1) {
perror ("setitimer");
exit (EXIT _FAILURE); }
— KHIERS =S
it.it value.tv sec = 0;
setitimer (ITIMER REAL, &it, NULL);
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#include <sys/time.h>

int getitimer (int which, struct itimerval* curr value);
9 FYIIEEI0, KMEE-1 )

— which: 1EEWENRE, ATBUAME
ITIMER REAL - E3CTEATEE
ITIMER VIRTUAL - FEHAERTES
ITIMER PROF - SCFHEAYES

— curr value: BHIRIREE
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